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This graph shows the number of packets of crisps that were sold in one week. CEZC

16 (=zC

Number of
packets

Tomato Cheese Salted Paprika Chicken ClEC

(a)  How many more packets of Cheese were sold than packets of Paprika crisps?

(b)  Which flavour was twice as popular as Salted? CIECI
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(a) At 10pm the temperature is 2°C.
At midnight the temperature has fallen by 3°C.

(2]

What is the temperature at midnight?

°c [l

(b) The temperature in a freezer is —15°C.
The temperature in the freezer increases by 3°C.

Work out the temperature in the freezer now.

°C ]

3 A recipe lists the ingredients needed to make 24 cakes.

100g Flour
50g Margdrine
50g Sugar
1 Egg

(a) Joanna makes 48 cakes.

Work out how much flour she needs.

g [

............................................................................

(b)  Luca has 7 eggs and plenty of the other ingredients.

Work out the maximum number of cakes he can make.

cakes [1]

---------------------------------------------------------------------

=

1142/01/A/M12 [Turn over |

g @ UCLES 2012 Lt

5
)



BT

4

E ® UCLES 2012 1112/01/AM112 E

* 1445380104 *

AR :

Choose one of these words to complete each sentence.

Certain Likely Unlikely Impossible

It is that the day after Wednesday is Sunday.

----------------------------------------------

My teacher chooses a number between one and one hundred.

..............................................

Itis that I will guess the number correctly. [1]

A package is delivered 3 hours 25 minutes after it is collected.
It is collected at 1539.

At what time 1s the package delivered?

----------------------------------------------------------------- [1]

Here is a formula.
a =2b — ¢

Find the value of a when
(a) b=11land c=3

................................................................. (1]
(b) b=12and ¢c=-4

[1]

------------------------------------------------------------------
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Tido is shopping at a furniture store.

(4]

CLEA R X SRR AL

(a) He has $360 to spend.
He buys a table for $204.99

Work out how much money he has left after buying the table.

“ZDO NOT WRITE IN THIS MARGIN | =
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-----------------------------------------------------------------

(b) Work out the cost of 4 mirrors at $35.99 each.

-----------------------------------------------------------------

(¢)  Abed costs $560.
The price is reduced by 25% in a sale.

Work out the sale price of the bed.

------------------------------------------------------------------
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(a)  Complete this table of values for the graph y=—4x -2 ¢t =%

H!!!!lll!ll!l

y | 6| 2 ~6 [1]  CiEy

(b)

[1] CIEgC

ClEg
ClEg
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Complete the following statements.

(@ 0.75m = cm [1]

-----------------------------------------------------
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mm

() 1.357kg = g [1]

-----------------------------------------------------

(¢) 4000kg = tonnes [1]

-----------------------------------------------------

(@ 25m° = cm [1]

-----------------------------------------------------

R
PR

10 Complete this table of equivalent fractions, decimals and percentages.

The first row is done for you.

Fraction Decimal Percentage

g— 0.375 37.5%

43 %

0.09

[2]

1E
1e &
1E 11 Work out

IE (a) 2.59 x 0.4

IE (b) 444 +12

----------------------------------------------------------------------
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12 The sketch shows a triangle ABC.

=]

- — _ 210 '
AB=7cm, CB = 10cm and angle ABC =32". CIEC)
Draw triangle ABC accurately. CIEG]

The line CB has been drawn accurately for you. | CIEC]|

C B [2] CIEC!
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13 Chaz draws a line CD.
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D(9,5)
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JE
:E Point C has the co-ordinates (5, 2).
HE Point D has the co-ordinates (9 , 5).

f E Point M is the midpoint of the line CD.
e LY

1E Work out the co-ordinates of the point M.

................................

I E: 14 (a)  Write down all the factors of 18

.................................................................

E (b)  Write 54 as a product of its prime factors.
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15 Use the information that

22.1 x 32.5 = 718.25

to write down the answers to the following questions.

(a) 22.1x325= [1]

---------------------------------------------------------------

(b) 71825 +22.1= ————— [11

(€) 2.21x325= [1]

---------------------------------------------------------------

(d) 71825 +325= [1]

---------------------------------------------------------------

(e) 2210x325= [1]

---------------------------------------------------------------
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